* - BblCOTa paboyelt 30HbI , M

17,3

10,3*

11 22 32 4,2 52 6,3 73 83

A 9,3 10,3
A BbicoTa pabouen
AAoLWAAKK OT Mona, M B 2] 32 4,2 52 6,2 73 83 9,3 10,3 1,3
B labapwuTHas BbICOTa, M (o 3, 4,2 52 6,2 7,2 8,3 9,3 10,3 n3 12,3
C  BuicoraggRgomei oy 63 99 120 133 218 236 251 265 314 327
30HbI, M
Pama 1,0 M (BMA -1400) = 2 S 2 - 2 & 2 - 2
Pama 2,0 M (BMA -1400) 2 2 4 4 6 6 8 8 10 10
Mepwvna orpaxgeHua - 2 2 2 4 4 4 4 6 6
CTshKKa AmaroHanbHas 2 2 4 4 6 6 8 8 10 10
CTayKKa ropu3oHTanbHas - 2 - - - - - - - -
Pabouas nioLlagKka c SloKoM - 1 1 1 2 2 2 2 5 3
Pa6ouaqa nnolanka 6e3 nioka 2 1 1 1 2 2 2 2 3 3
CTsa)KKa yHMBepcasibHas cTanbHas - - 2 2 2 2 2 2 2 2
KoHconb TpeyronbHas (c xoMyTamu) - - - - - 4 4 4 4 4
KpenéxHaga ckoba 4 4 4 8 8 12 12 16 16 20
O6o1MMa yHMBepcanbHada - 4 4 4 4 4 4 4 4 4
lakka - KoMMneHcaTop 4 4 4 4 4 4
Onopa HeperynmpyemMas 4 - - - - - - - - -
Onopa BUHTOBasa L =160 MM ycun. - 4 4 4 4 - - - - -
Onopa BuHTOBagda L = 400 MM ycun. - - - - - 4 4 4 4 4
Koneco @ 150 MM + Kpenéx - 4 4 4 4 4 4 4 4 4
Koneco @ 125 MM + Kpenéx 4 - - - - - - - - -
MpoponbHoe 60pTOoBOE orpakaeHue* 2
Monepey. 60pT. orpaxka. (BMA - 1400)* 2 2 2

* [lon. KoMMneKTaums



